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1 FA A avh G AT 1140 600 270 270

2 2y bh A IATE i 990 150 270 150 420

3 HLTC PR EE 840 150 90 600

4 HOHETC Pt FIIT 810 420 150 90 150

5 JEAREFETC I E T 660 150 150 90 270

6 7Y Kl Fo1 620 420 200

7 F=l— PR e 600 600

7 FTC #ZFOHE A 3T 600 600

9 V=—JEK A e 510 270 150 90

10 FTC JER VEE B 480 150 90 90 150

11 BRETC /NFLILT R 420 420

12 7Y Bz 5 360 90 270

13 HROHETC WiE ERT 330 90 150 90

14 HETY ik 1 284 270 14

15 FAAXL avh LIt JiE 270 270

16 HLTC A IEE 240 150 90

16 NTT R&D HE EA 240 90 150

18 Fl— O T 230 140 90

18 FEARTC R SR 1 230 90 140

20 FyLY R . 214 150 14 40 10

21 FAA avh 1R LRl 200 200

22 Fl— AR it 180 90 90

23 T-MACH BA HT S 150 150

24 FVALTC EES 120 30 90

25 V=—JEK B A JBRAK - 104 14 90

26 ‘HDHETC S VT 100 50 50

27 FA A avh NI TEL 90 90

27 EERCILYN B 53 90 90

27 HETY R T 90 90

27 T-MACH %k T 90 90

27 HETY B BRE 90 90

32 F ¥ ATC Ei O b7 78 50 28

32 F ¥ ATC KIE S8+ 78 50 28

34 Frl— B KE 70 30 40

35 Fxl— S T 64 14 50

36 HEARTC TEIE A 60 30 30

36 Fvh AV B 5 60 30 30

36 HOETC ERHE Fu A 60 30 30

39 JEAHKE miH & 50 50

39 F¥ L ATC aE EwEET 50 50

39 Fxl— LT #RAE 50 50

42 Tvbh, AV e 46 40 6

43 FxlL oY K LA 44 30 14

43 EAREETC =k B 44 14 30

43 HLTC T8 5 44 14 30

46 HETY FtiE JRFn 40 40

47 FxlL Y B 5T 32 14 18

47 HOHTC fedd =1 32 14 18

47 HiEAR HE T 32 14 18

50 JEAKHKE ZEH 21 30 30

50 F=l— Bl HH%E 30 30

50 T.0.P e AET 30 30

50 Fvh, AV ik 7 30 30

50 EEREILYN IR RE 30 30

55 FxLoY INEEES 28 28

55 TEH) A Feandy 1 28 28

55 BIEARTC JEE T 28 14 14

55 FTC HZHOHR L T 28 14 14

55 Fl— BT E{EA 28 14 14

55 Frl LY A 2R 28 14 14

61 FxlL oY e 27 18 3 6

62 JEAREFETC ) fie) FY2 24 18 6

63 UNEY B B4 T 23 3 10 10

64 FA A avh AR 1 22 6 10 6

65 HLTC A JE A 21 6 3 6 6

66 AL —TC J O HE 19 10 3 6

66 HIETZ ARy 3 B4l 19 3 10 6

66 HLTC Prrh B 19 6 3 10

69 F ¥ ATC += A 18 18

69 HEARTC R T 18 18

69 HIETZ NS EEA 18 18

72 T Uik 72 i 16 10 6

72 FxlL oY INFEES 16 10 6

74 HMETY IR Fe 15 6 3 6

75 Fxl— R A EA 14 14

75 F ¥ ATC KRB SR 14 14

75 F— SUH EE T 14 14

75 F AR avh A dE 14 14
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75 F =l — —REH 14 14

75 Fxlov HAHH B3 14 14

75 F AR =avh WH 51 14 14

75 FxlL oY fi I S Ay 14 14

75 EH), £ oA ALE 14 14

75 Fxlov Bk 72 E 14 14

75 FTC FHOHE il A e 14 14

75 FxlL oY ZH 501 14 14

75 FTC FROH EEEES 14 14

38 HOHETC Tk i A 13 3 10

89 HROETC RIE BT 10 10

89 JEART# Pt J0H AGEE 10 10

89 HLTC B pRAC 10 10

89 TE8), TefF WA e 10 10

89 FEARTC P i 10 10

39 E N Seily HE 10 10

95 EF, £ JuJ1 %07 9 3 6

96 HIET i) 6 6

96 JEAREBETC AR KPR 6 6

96 FxlLoy TR DAk 6 6

96 FAATavk T3 BlhE 6 6

96 Zob AV —if T 6 6

96 HEARTC ENEE S 6 6

96 F ¥ ATC FH 5T 6 6

96 FTC #%ZRoH JEJE B - 6 6

96 TE8), TE(F TR T 6 6

96 V=—JEK £ = 6 6

96 Fx¥ L ATC FH 5T 6 6

96 JNET J I pREE 6 6

96 NTT R&D IR & 6 6

9% |Fxroo AN 6 6

% [FyLoo VA A 6 6

111 18 ENET 3 3

111 TE8), TE(F BE EE 3 3

111 JEAHKE B EfE 3 3

111 2vb AV FA BT 3 3

111 T BEAR HE1- 3 3

111 TE8), TE(F AF EPE T 3 3

111 AZ—TC FHE B 3 3




